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The roots are; x =




v

'T‘f - ©) sin’® sec @ cos 0 csc 0

! tan’d PInre -
ﬁh’a(_l_ Gost [ 1 ) '[;é;‘/'
‘-‘}Sb s b : 0/§7

- Hind

P | ags &
sin’p . Fn‘o
L) il :

ot
4. Determine the non-permissible values of 6.
( a)secf | b)tand - 77
B (us P | 0S¢
wsB#0
[(ws
6 Fo i, b4 9o 970,
= 90,230 '
84190 + I1g0 (k) k €2
Go + k(lxe") k€Z ¥ )
cscf sec _ Rl
) Cos6 npv d) Gno =~ izasp
15 N sin64-0 sing
ws o ¢ (s6  <€ne
o < w3§$0 = [ LB <
Sing 00s9 : 2
Gy . 94{* i) | Cosf sng
Sin 6{C0s6) Lez

5. g each identity for the given value of 6.
‘=l=====_
a) tan 6 csc 6 secf = fc,g’/' = 150°

3l



ea

5
%

g




7. For cach identity:
i) Verify the identity using graphing technology.

it) Prove the identity.

. | — cotf
| a) 1 — sin@ = (sin 0)(csc6 — 1) b) —cott = 7 "a1p

[ 1 )
B g ) B [ s B
(\5'1’19 {35 3
Sinég Sind
cmb ooy f e
p | - Ssin@ )
o= l C
8. For each identity: :

e i) Verify the identity for § = 45°. ' S el ae :
(E"- 52 ii) I;rove the identity. <o
1= 92) o

Sz )%g@ —cscf =0 b) tan’d cos’d + sin’ = 220
| 2.2)

CotH4s _ csc ys 0

Cos4s ) fun” 4< cos. ds+ s;\n’t:r |




9. For each identity

i) Verify the identity for‘@ = '%" ‘ (,_ ‘
ii) Prove the identity.

J ot il i~ ot FE)
_ cot [1E
i 21
e 10| AR BB - TR )
, e .
"2 | —sip BT el B
(/] e '35
= e D) |
G L |
5 '-aﬁ(/g) |
s i ;_E'_ /5
J‘ — — -
" g
) S w0
sy i) Co_se—coalé —a/'Q
S - shé
S =
L Q‘S_ e (:’1:0 50 = 0059
| j,o b
CS5co =
____._a-c CSicit Al smé
/ - Sin6
I(SME- = SMGE?_{G (,059
.Sh)a' cinb e
j - snt — i |
| - Sint U |
Sing ) CaJB[s-m 9'—1) é
i -sin é Sme !
AN S 2 I
- Sis | ’ |
TS Ay = _ cose(1=5m6) }
S/ ¥ ) il
Sin 6 (I/m‘?) e | “
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5 r(jse algebra to solve each equation over the domain 0 = x < 2. i \f'a‘-f';ﬂ £
» Give the roots to the nearest hundredth where necessary. ( cos * .:.,'G_
; . 25
,\» a) tan x = cot x b) cosx + +/3sinx = 0 mulibpty 7 J 5
' +on¥X s _
. cos* =501~ cws?x) = 0
+on X = !

oS K 3oBtasi 4 =0

Ao S ) _ v
(4o +1) = 0 oty
- )
@vmx ) : cost ¥
4 L= -
Fanx 41 =0 +omy = 1%
dony = = il :
: - 4
o ap i G I E-‘;" Cos X =
Joco sl 5= IO
2
€)2cosx =7 — 3secx d) sin’x = sinxcosx
 Jtesx = - 3(0{” ) Sin st < G AEsS
gm x (s
JCos X = 760&)( Sy i i

iuszx -760&)(*3 )




12. Identify which equation e
Prove the identity, Solye th

— T S e leether
’smr-{-
a) l /

low is an identity. Justify your answer.
€ other equation over the domain
Oots to the nearest hundredth.

sin x tZCSC.x—l\ b)slnx+1=l+cscix
sin x cscx ‘ 2
S 2 ‘ 4+ £5¢ 7
Yoy cscC >C
/ $1n
;'_ /
5/: X = l 4- —""’;'
2 €in L
19 ¢ s
< Sin 2t g/
5/n7*
A
I=nT) X 2 : /
'2"“" /1 S0 30 L
Sl T e Slh?x Sin 7
e i /
X F1n "% N7
2 2 41
e/ v - s ﬂ- ’07(
(S '(C 7( / HI_C)_,_.>—— A o' f____’

13. Here are two identities that involve the cotangent ratio: e

11 7©
cot = ——and cotg'= L8
tan 6 sinf

a) Show how you can derive one identity from the other.

[

(ot ¢ =i

+zn 0
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B - b) Determine the non-permissible values of 0 for each identity.
Explain why these values are different. How could you illustrate
this using graphing technology?

Multiple-Choice Questions

1. Which expression is the simplest form of s

A.secf B. csc 6 c.%ﬁ
. ‘ sin’f
sinf +

2. What are the restrictions on the expression

A.cosf # 0

C.cosf # 0,sinf # 0,sinf # 1

‘D.cos) # 0,sinfl # 1




